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Al Tafawwoq Primary School 

Math - Grade 3 

Quiz 2 – Term 2 – Practice Paper 

LO: to understand fraction 

 

Q1. Which figure is partitioned exactly into 4 equal parts?  

 

 

 

Q2. Ahmed has 3 squares that are the same size. He partitions the squares 

into equal parts as shown below. What happens to the size of each part 

when the whole is partitioned into more equal parts? 
 

 

                               

A. Each part becomes smaller                   B. Each part becomes bigger       

C. Each part stays the same size               D. None of the above  

 

Q3. Ahmed walks  
1

6
  of a mile every day. Sultan walks  

2

6
  of a mile every day. 

Saif walks  
5

6
  of a mile every day. Abdullah walks  

4

6
  of a mile every day. Who 

walked farther? 

 

(A)   Ahmed           (B)  Sultan              (c)   Saif                 (D)  Abdullah 
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Q.4 What fraction represents the shaded part of the square? 

 

A. 
1

3
                  B. 

2

3
              C. 

3

3
                 D. 

2

2
 

 

 

 

 

 

Q5. What fraction represents part of the pizza that was not eaten? 

A. 
2

5
                  B. 

3

5
              C. 

1

5
                 D. 

3

6
 

 

 

 

 

 

Q6. What fraction is represented by point A? 

 

 

 

 

A.     
2

4
                  B. 

1

3
              C. 

3

3
                 D. 

2

3
 

 

 

 

 

 

 

 

 

 

 

Q7. What fraction represents 1? 

 

A. 
2

5
                  B. 

3

3
              C. 

5

1
                 D. 

1

6
 

 

 
 

 

 

Q8. Which fraction represent thirds? 

 

A. 
2

1
                  B. 

3

5
              C. 

1

5
                 D. 

1

2
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Q9. What fraction represents point A? 

 

A. 
1

5
                  B. 

7

10
              C. 

10

7
                 D. 

6

5
 

 

 

 

 

Q.10 what is the unit fraction? 

 

A. 
2

1
               B. 

2

2
    C. 

1

2
                D. 

0

2
  

1 


